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ECONOMICS
( Major )

Paper : 5.3
( Introduction to Environmental Economics )

Full Marks ; 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
weore fraifiened et Spied s i

(a) The depletion in the ‘ozone layer’ is
caused by

' B THAT TR (AR
(i) carbon dioxide
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(2) (3)

(i) nitrous oxide () What does ‘polluter pay principle’
imply?
G SRS
oo (A fafreicet e 3pm 2

(i) methane
() Why is free rider a problem?

gy & oI (79 ¢ i 2

(iv) chlorofluorocarbon

() Mention one measure for reducing the
FTET I emission of greenhouse gases.
(Choose the correct answer) Civmz R PRI 2P[ AR 9O A ey
<41 |
(o= TeCh1 AR Sfeyear)
(b) Define ‘minimum viable population’, 2. Answer the following questions : 2x4=8
TSR FRAHH GRS R A | wers fiml ppigEd Bed il -
(c) The study of interaction between living (a) What is transaction cost?
organisms and their environment ig
known as y o R 6 2

Rill i
(Fill in the blank) () What does environmental Kuznets curve

&g i SEARARTER MR fae imply?
SR 1 & A RceT ooy R R )
(et 373 ARSI () What do you mean by ‘non-
(d) Give the full form of IPCC. excludability?
efEel 3feeE 6 @2
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14 ) (5)

(d) erlllat_ isp meant by transboundary (d) Explain how allocation of property right
pollution? results in efficient resource use.
ﬁ,‘lﬁ‘a\ﬂ SR WA 5 9 . eeffey yelleR IRERAc fwE e v
2R T2 FCE DRI 401
3. Answer any three of the following questions - (e) ‘Deposit refund systf&m’ I'CWa_l:dS good
5x3=15 environmental behavior. Explain.
1 il PR R e oo e oy T SRCTY TR OF ARENE SR

A ¢ | I

(@) Write a note on the
studying environmental

AR S
ot TSP e @fp 1T 4. Answer the following questions : 10x3=30

Importance of
€Conomics,

weTe i enpeTgRd T i
(b) ‘“Incomplete market ;

; S a
market failyre ” Explai Ireason for

i (aq) Write the features of common

TP TR, T frererg property resources. Explain with
\9 EE]
01 ! 451 T4 | BIIKI] example, how tragedy of commons
occurs in case of common property
: : ! resources. 4+6=10
- Dlsfvlilis bI‘leﬂy. the impact of Population
gro on environment. TR FAE afEPmR foran | SR e
. crae M RSAA TR OIS gom1
IRCPE S[e e i :
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20A/221
/ ( Continued ) 20A/221 ( Turn Over )

s




(6) Lo

ible for
What are the causes responsl
" i % climate change? What steps have

. : : en taken to mitigate
What is internalization of externality? internationally be

5+5=10
: ?
How can negative externality = be this problem?
ir?ternalized? Explain with suitable y : e 5 9 3 ST SR
i i QR ARSI 3 [ el 2% I C20R?
IREER HEERed {2 4 S
MR g SremRiesd FHE 1R, B Or/
RURIISSIN How are global warming and climate
change related? How ::1 hum_an
e o . 1 warming
(b) How does tradable permit result in activities (:o_ni'-l'l‘f;‘tlte to glo e Lo
mutually beneficial exchange outcome? in present time:
i i help of suitable
' o[PS ? O S AL FREAE G
ey wEfe-omz @E e s R SR TR ?

e Ry ol 3 2 etz e |
* % &
Or/F=41

Discuss about the choice of suitable
policy  instrument in developing
countries for control of pollution.

AT FRER I SRR S Seis)
MO Wfe forfiom spoere wyrzaime =4 |

3 (Sem-5) ECO M 3
20A/221 ( Continued ) 20A—6000/221



